
NRT/KS/19/5496
Bachelor of Commerce (B.Com.) Semester–V Examination

INDIAN ECONOMY–I
Compulsory Paper–4

Time : Three Hours] [Maximum Marks : 80

N.B. :— (1) All questions are compulsory.

(2) All questions carry equal marks.

1. (A) State the objectives of XI and XII Five Year Plans. 8

(B) State the features and objectives of NITI (National Institution for Transforming India) Aayog.
8

OR

(C) What is 'Regional Planning' ? State the aspects and challenges of 'Regional Planning' in India.
16

2. (A) Distinguish between the concepts of 'Economic Growth' and 'Economic Development'. 8

(B) What are the causes and effects of over exploitation of 'Forest Resources' in India ? 8

OR

(C) Discuss the various forms of 'Conventional' and 'Non-conventional' sources of energy in India.
16

3. (A) State the causes and remedies to the problem of 'Population Explosion' in India. 8

(B) What are the recent trends in Employment in India ? 8

OR

(C) State the causes and effects of the problem of 'Unemployment' in India. How can unemployment
be reduced in India ? 16

4. (A) Which are the causes of increase in India's 'Public Expenditure' ? 8

(B) Suggest measures to control 'Fiscal Deficit' in India. 8

OR

(C) Discuss the various sources of Public Revenue in India. 16

5. Write short answers :

(A) Enumerate Financial Resource allocation of India's Five Year Plans. 4

(B) State the advantages of 'Air Transport' in India. 4

(C) Write the features of recent population policy of India. 4

(D) Write the classification of Public Debts. 4
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¼ejkBh ekè;e½
1. ¼v½ vdjkO;k o ckjkO;k iapok"khZd ;kstukaph mfí"Vs fo'kn djk- 8

¼c½ uhfr (NITI) vk;ksxkph oSf'k"Vîs o mís'k fo'kn djk- 8

fdaok

¼d½ izknsf'kd fu;kstu dk; vkgs \ Hkkjrkrhy izknsf'kd fu;kstukps iSyq vkf.k vkOgkus fo'kn djk-
16

2. ¼v½ vkfFkZd o`f) vkf.k vkfFkZd fodkl ;k ladYiuk e/;s Hksn djk- 8

¼c½ Hkkjrkrhy oulainsP;k vfr'kks"k.kkph dkj.ks vkf.k ifj.kke dks.krs vkgsr \ 8

fdaok

¼d½ Hkkjrkrhy ikjaikfjd vkf.k vikjaikfjd ÅtkZ òksrkP;k fofo/k Lo:ikph ppkZ djk- 16

3. ¼v½ Hkkjrkrhy yksdlaLFkk foLQksVkph dkj.ks o R;kojhy mik; fo'kn djk- 8

¼c½ Hkkjrkrhy jkstxkj miyC/krsrP;k vk/kqfud izo`fÙk dks.kR;k vkgsr \ 8

fdaok

¼d½ Hkkjrkrhy csjkstxkjhP;k leL;sph dkj.ks vkf.k izHkko Li"V djk- Hkkjrkr csjkstxkjh d'kh deh
djrk ;sbZyk \ 16

4. ¼v½ HkkjrkP;k lkoZtfud [kpkZrhy ok<hph dkj.ks dks.krh vkgsr \ 8

¼c½ Hkkjrkrhy foÙkh; rqVhps fu;a=.k dj.;klkBh mik; lqpok 8

fdaok

¼d½ Hkkjrkrhy lkoZtfud mRiukP;k fofo/k òksrkph ppkZ djk- 16

5. laf{kIr mÙkj fygk %

¼v½ HkkjrkP;k iapokf"kZd ;kstusP;k foÙkh; lalk/kukaps okVi fo'kn djk- 4

¼c½ Hkkjrkr ok;q ifjogukps ykHk dks.krs vkgsr \ 4

¼d½ HkkjrkP;k tula[;k furhph oSf'k"Vs fygk 4

¼M½ lkoZtfud _.kkaps oxhZdj.k fygk 4
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¼fgUnh ekè;e½
1. ¼v½ X;kjgoha rFkk ckjgoha iapokf"kZd ;kstukvksa ds mís'; crkb;sA 8

¼c½ uhfr (NITI) vk;ksx dh fo'ks"krk;sa ,oa mís'; Li"V dhft;sA 8

vFkok

¼d½ izknsf'kd fu;kstu D;k gS \ izknsf'kd fu;kstu ds igyw ,oa pqukSfr;ksa dks Li"V dhft,A 16

2. ¼v½ vkfFkZd o`f) ,oa vkfFkZd fodkl bu ladYiukvksa esa Hksn dhft,A 8

¼c½ Hkkjr ds oulaink ds vfr'kks"k.k (over exploitation) ds dkj.k ,oa ifj.kke D;k gSa \ 8

vFkok

¼d½ Hkkjr ds ikjaifjd ,oa vikjaifjd ÅtkZ òksrksa ds fofHkUu Lo:iksa dh ppkZ dhft,A 16

3. ¼v½ Hkkjr dh tula[;k foLQksV ds dkjd ,oa mik; Li"V dhft,A 8

¼c½ Hkkkjr esa jkstxkj miyfC/k dh vk/kqfud izo`fÙk;k¡ dkSulh gSa \ 8

vFkok

¼d½ Hkkjr esa csjkstxkjh dh leL;k ds dkj.k ,oa izHkko Li"V dhft,A Hkkjr esa csjkstxkjh dSls de
gksxh \ 16

4. ¼v½ Hkkjr ds lkoZtfud O;; ds o`f) ds dkj.k dkSu&ls gSaA 8

¼c½ Hkkjr esa foÙkh; ?kkVs dk fu;a=.k djus ds fy, mik; lq>kb;sA 8

vFkok

¼d½ Hkkjr esa lkoZtfud vk; ds fofo/k òksrksa dh ppkZ dhft,A 16

5. la{ksi esa mÙkj fyf[k, %

¼v½ Hkkjr ds iapokf"kZd ;kstukvksa ds foÙkh; lalk/kuksa dk vkcaVu fo'kn dhft,A 4

¼c½ Hkkjr esa gokbZ ifjogu ds ykHk dkSu&ls gSa \ 4

¼d½ Hkkjr ds tula[;k uhfr dh fo'ks"krk,¡ fyf[k,A 4

¼M½ lkoZtfud _.kksa dk oxhZdj.k fyf[k,A 4
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